2025/09/19 14:42 1/12 20200 0000000000000

2000 00 00doodoogdn

good

oot

e [1[: " 2020-08-0312:00~17:00"
¢ rank:’45/685"
e JOQOQOO" * 4/4111

HEN

E.Enigmatic Partition
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#include<algorithm>
#include<iostream>
#include<cstdlib>
#include<cstring>
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#include<cstdio>

#include<vector>

#include<queue>

#include<cmath>

#include<map>

#include<set>

#define LL long long int

#define REP(i,n) for (int i = 1; 1 <= (n); 1++)

#define Redge(u) for (int k = h[u],to; k; k = ed[k].nxt)

#define cls(s,v) memset(s,v,sizeof(s))

#define mp(a,b) make pair<int,int>(a,b)

#define cp pair<int,int>

using namespace std;

const int maxn = 300005,maxm = 100005,INF = O0x3f3f3f3f;

inline int read

int out = 0,flag = 1; char ¢ = getchar();

C <48 || ¢ > 57 c == "'-') flag = 0; c = getchar();
c >= 48 && ¢ <= 57){out = (out << 1) + (out << 3) + ¢c - 48; ¢ =

getchar();
flag ? out : -out;

LL fimaxnl,n = 100000;
LL dlimaxn],d2[maxn];
LL D1/maxn],D2[maxn];
void addl(int 1,int r

1>r C
di[l] += 1; dlir + 1] -=r - 1L + 2; dlir + 2] 4= r - 1 + 1;
void add2(int 1,int r
1>r C
d2[l] += 1; d2/r + 1] -=r - 1L + 2;: d2lr + 2] +=r - 1 + 1;
void Addl(int 1,int r
1>r C
D1[r] += 1; D1/l - 1] -=r - 1 + 2; D1/l - 2] +=r - 1 + 1;
void Add2(int 1,int r
1>r C
D2[r] += 1; D2/1 - 1] -=r - 1 + 2; D21 - 2] +=r - 1 + 1;
void solve
int i = 1; i < maxn; i++) dl[i] += d1[i - 1],d2[i] += d2[i - 11;
int i = 1; i < maxn; i++) dl[i] += d1[i - 1],d2[i] += d2[i - 1];
int i = maxn - 2; i; i--) D1[i] += D1[i + 1],D2[i] += D2[i + 11;
int i = maxn - 2; i; i--) D1[i] += D1[i + 1],D2[i] += D2[i + 11;
inti=1; 2*1i-1<=n; i++) f[2 * 1 - 1] +=d1/i] + D1/il;

inti=1; 2 *1i<=n; i++) f[2 * i] += d2[1i] + D2[i];
//REP(1,100) printf("slld ",f[i]); puts("");
int i =1; 1 <=n; i++) f[i] += f[i - 1];
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void work
intm=3; m<=n; m+
int L=m+ 3,mid =2 *m,r=m * 3 - 3;

1l <=n
addl((L + 2) / 2,(mid + 1) / 2);
add2((lL + 1) / 2,mid / 2);
Add1l((mid + 3) / 2,(r + 1) / 2);
Add2((mid + 2) / 2,r / 2);

’
L+=m; mid +=m; r += m;

solve();

int main
work();
int T = read(),1,r;
int i =1; i <=T; i++
1l =read(); r = read();
printf("Case #%d: %lld\n",i,f[r] - f[1 - 1]);

0;

G.Game SET
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#include<bits/stdc++.h>

using namespace std;

#define mem(a,b) memset(a,b,sizeof(a))
typedef long long LL;

typedef pair<int,int> PII;

#define X first

#define Y second

inline int read

int x=0,f=1;char c=getchar();
lisdigit(c c=='-"')f=-1;c=getchar();
isdigit(c)){x=x*10+c-'0"';c=getchar();
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x*f;

const int maxn= ;

int T,n,has[maxn ,List ;
string almaxn];

bool ok,vis[maxn];

bool judge(int A,int B,int C

int i=1;i<4;i++
int cnt o

mem(cnt,0);
int j=0;j<3;j++

has[A]l[i][j]l==1)cnt[]]++;
has[B][i][j]==1)cnt[]]++;
has ' Cl[i][jl==1)cnt|[]j|++;

cnt[0/>=1 && cnt[1]>=1 && cnt[2]|>=
cnt[0]>=3 || cnt[1]>=3 || cnt

void dfsl(int step

ok C
step==

judge(List ,List ,List ok=

int i=1;i<=n && 'ok;i++
has|i step-1] && l!vis|i

List[stepl=1i;

vis[il=1;
dfsl(step+1);
vis[i|=0;

void dfs2(int step,int color

ok C
step==

judge(List ,List ,List ok=

?
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int i=step;i<=n && l!ok;i++
has|i color| && !vis|i
List[stepl=1i;
vis|il=1;

dfs2(step+l,color);
vis|[i!=0;

int main

T=read();
int Case=1;Case<=T;Case++

ok=0;
n=read/( ) ;
int i=1;i<=n;i++
int j=0;j<4;j++
int k=0;k<3;k++)has[il[j][k]=0;
int i=1;i<=n;i++
cin>>alil;
int cnt=-1;
int j=0;j<ali].length();j++
alil[jl=="I["
++cnt;
cnt==0 &&
alil[j+1]=="*")has|i =has|1i =has|i
cnt==0 && alil[j+2]/=="h"
cnt==0 && alil[j+2]/=="w"
cnt==0)has|1i =1;
cnt==1 &&
alil[j+1]=="*"')has[i =has|1i =has|1i
cnt==1 && alil[j+1l]/=="d"
cnt==1 && alil[j+l]/=="s"
cnt==1 && alil j+l/=="'0"
cnt==2 &&
alil[j+1]=="*")has|i =has|1i =has|i
cnt==2 && alil [ j+2/=="0"
cnt==2 && alil[j+2]=="1"
cnt==2)has|1i =1;
cnt==3 &&
alil[j+1]=="*")has|i =has|1i =has|i
cnt==3 & alil [ j+ll=="r"
cnt==3 && alil[j+l]/=="q"
cnt==3 && alil[j+l]/=="p"

has
has

has
has
has

has
has

has
has
has
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dfsl(1l);
ok) {printf("Case #%d: %d %d
%d\n",Case,List[1],List[2],List[3]); ;
int col=0;col<3 && 'ok;col++
dfs2(1,col);
ok) {printf("Case #%d: %d %d
%d\n",Case,List[1],List[2],List[3]); ;

ok ;
printf("Case #%d: -1\n",bCase);

0;
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#include<iostream>
#include<cstdio>
#include<algorithm>
#include<set>
#include<cstring>
#define 11 long long
using namespace std;
int read

int k=0, f=1;char c=getchar();
;isdigit(c);c=getchar c=="'-") f=-1;
;isdigit(c);c=getchar k=k*10+c-'0"; k*f;

const int N=200055,inf=0x3f3f3f3f;
int T,n,m,tot,alN!,b[N],cIN!,d[N],mn[N<<2];
set<int> s[N];
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#define lson k<<1,1,mid
#define rson k<<1|1,mid+1,r
void pu(int k

dimn[k<<l]]<d/mn|k<<l]|
mn K/=mn|k<<1];
mn|kl=mn k<<1|1];

void build(int k,int 1,int r

l==r) {mnk]|=1; ;
int mid=1l+r>>1;
build(lson);build(rson);
pulk);

void update(int k,int 1,int r,int a

l==r ;
int mid=1+r>>1;
a<=mid) update(lson,a);
update(rson,a);
pulk);

int main

T=read!();
int p=1;p<=T;p++

n=read();tot=0;int res=0;
int i=1;i<=n;i++

alil=read(),cl++totl=alil,blil=read(),cl[++toti=b[i];

sort(c+l,c+l+tot);
tot=unique(c+l,c+l+tot)-c-1;
int i=1;i<=n;i++

il=lower bound(c+1,c+l+tot,alil)-c;
il=lower bound(c+1,c+l+tot,bl[il)-c;
alil==bli]) dlali] |=inf;

a
b
slalil].insert(b[i]),s[bli]]l.insert(ali]l),dlali]ll++,d[b[i]]++;

build(1,1,tot);
set<int>::iterator it;

res--;
int x=mn :
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dix|=inf;
update(1,1,tot,x);

dimn[1]]==

int x=mn[1];

it=s(x].begin();

dix]=inf;d[*it]--;
update(1,1,tot,x);
update(1,1,tot,*it);
s[*it].erase(s[*it].lower bound(x));
s(x|.erase(it);

'
int i=1;i<=tot;i++

sli].clear(),d[1]=0;
printf("Case #%d: %d\n",p,res+tot);

0;

K.Kabaleo Lite
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#include<bits/stdc++.h>

using namespace std;

#define mem(a,b) memset(a,b,sizeof(a))
typedef long long LL;

typedef pair<int,int> PII;

#define X first

#define Y second

inline int read

int x=0,f=1;char c=getchar();
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lisdigit(c c=='-"')f=-1;c=getchar();
isdigit(c)) {x=x*10+c-'0"';c=getchar();
x*f;

const int maxn= ,inf=1e9;

int T,n,Mino/maxn<<2],Minv|maxn<<2|,tag|[maxn<<2];
LL almaxn],bimaxn],prelmaxn]|,Maxpos maxn];
void maintain(int L,int R,int o

int mid=L+R>>1,1lo=0<<1,ro=l0]|1;
Mino[o!=min(Mino|lo],Minolro]);
Mino|[lo|==Mino[ro] )Minv/ol=max(Minv|lo],Minvi ro]l);
Mino[lo]<Mino[ro! )Minv[ol=Minv|1lo];
Minv[o|=Minv|ro];

void build(int L,int R,int o

L==R
Minolol=b[L];
Minv/ol=L;
taglo/=0;

’

int mid=L+R>>1,lo=0<<1,ro=lo0]|1;
build(L,mid, lo);

build(mid+1,R, ro);
maintain(L,R,0);

taglo!=0;

void pushdown(int o
int lo=o0<<1,ro=1lo0]|1;
Mino|/lo!-=tag/o!;Mino/ro|-=taglo/;
tag/lo/+=taglo];taglrol+=taglo];
taglo/=0;

PII query(int L,int R,int o,int ql,int qr

L==ql && qr==R

make pair(Minv|o!,Minolo!);

pushdown (o) ;
int mid=L+R>>1,lo=0<<1,ro=l0]|1;
PII res;

gr<=mid)res=query(L,mid, lo,ql,qr);
gl>mid) res=query(mid+1,R,ro,ql,qr);

PII ansl=query(L,mid,lo,ql,mid),ans2=query(mid+1,R,ro,mid+1,qr);
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ansl.Y<ans2.Y)res=ansl;
ansl.Y>ans2.Y)res=ans2;
res=make pair(max(ansl.X,ans2.X),ansl.Y);

maintain(L,R,0);
res;

void update(int L,int R,int o,int ql,int qgr,int plus
==ql && R==qr

Mino/o|=Mino/o]-plus;
tag/o/+=plus;

’

pushdown (o) ;
int mid=L+R>>1,1lo=0<<1,ro=1l0]|1;
gr<=mid)update(L,mid,lo,ql,qr,plus);
gl>mid)update(mid+1,R,ro,ql,qr,plus);
update(L,mid, lo,ql,mid,plus),update(mid+1,R,ro,mid+1,qr,plus);
maintain(L,R,0);

.
’

void print(_int128 x

I'x ;
X < putchar('-'),x = -X;
print(x / ;
putchar(x % + '0');
int main
T=read();

int Case=1;Case<=T;Case++

n=read!( ) ;
int i=1;i<=n;i++)alil/=read(),preli/=preli-1|+alil;
int i=1;i<=n;i++)blil=read();

build(1,n,1);

printf("Case #%d: %lld ",Case,b ;

_int128 ans=(_intl1l28)b[1/*( 1intl28)a ;

Maxpos =1;
int i=2;i<=n;i++

Il
-

preli/>prelMaxpos|i- Maxpos | i
Maxpos|i!=Maxpos/i-1];
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int r=Maxpos/ n|,cnt=0;
r>=2 && cnt<=b

PII tmp=query(l,n,1,2,r);
tmp.Y<=

r=Maxpos | tmp.X-11];

1

ans+=(_ intl1l28)tmp.Y*( 1intl128

cnt+=tmp.Y;
cnt>b
ans-=(__intl128) (cnt-b *

update(1l,n,1,2,r,tmp.Y);
r=Maxpos | tmp.X-11];

print(ans);
pu.ts mnn ;

oot
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